in vt
CUTS & loss of 108 BY. =

anould
or e
Rs. 450 At i:.n“h.. profit ?

HOV As \_.v\.l
i attempted
(22

2. Which traditional ornament worn by
married women in Haryana is a silver
waorn on the toes ?

ring

(A) Jhanjhar
(C) Payal
(E) Not attempted

(B) Pali
(D) Bichhiya

3. A salary is increased by 25% and then
20% of the new salary is deducted. If the
final salary is Rs. 12,000, what was the
original salary ?
(A) Rs. 12,000
(C) Rs. 10,000

(E) Not attempted

(B) Rs. 13,000
(D) Rs. 11,000

4. The author of the important musicological

text ‘Sangita Ratnakara’ is
(A) Tansen

(B) Pandit Haridas

(C) Sarangadeva

(D) None of the above
(E) Not attempted

UF a9 3§ -
TR 250, 6 & I 2 i

e H 3 2
* N T 9 1 20% Fe fer w2

afe it I B, 12,000 2, A AIntE
90 =y £ | i

(A) %. 12,000 (B) ®. 13,000
(C) ®. 10,000

(E) 3reniag

(D) ¥. 11,000

. . &

Ao ¥
[SCE
(A) AR
(B) ufeq aiE™
(C) HTeE
(D) ITE | | I3 e
(E) et

W
. ;
b Ce
105, L .wp -~
- .n: e, g
for o My o w480 w ch Parsly
g ) R hok.! o
(A N & Vg, g R 5 e Showne
)% e R o " o o i
(8) % w.: R ey o e |
S50 i ot
(©) 3 &
) e &=
(D) % o Who §
e m_._: ©- wnay
) Lﬂnﬁmﬁj Wi
)
BT S , £
B (S EEIR 2 gy :
DR SR s 4 (
AL T O B
(A) iz _ "
(B) et
(C) e e
(Dy faf:
(E) henfiy i, s
3.

A T i e 6



B2

(Al \Neither | nor il follows
(B) Both | and Il follow
(cl Only conlusion | follows
(D) Only conclusion I follows
(E) Notattempted

. 22 Aparsan travels 120 km in 4 hours. If he
1 Eﬁfﬂshisspeed by 10 km/hr, how long
willt take him to travel same distance ?

(B) 3 hours

(D) 2.5 hours

2 :
3. P & g

cCE

L

20. Complete the following aﬂa-'_aw d o
B:24::7:32 e (A}G‘-?" =
(A) 6 @ 19 ©) 5 (B) 10
(C) 5 (2)] G (E) 3R (D) 8
(E) Not attempted o ik
21.

21.  In the followind question: 35""”“’” 5 ;:n MOy 3 AT HIL 2 foreapdt fa T2
followed by 2 conckusio™® Jssg_f‘f’:;wy | B ) Ry o, 1 198 TS rert T
Choose right conclusion W' AP =y g - 5?{.
follows the given satement = i AR L

smmm;Mommgwalksafegaad ot = ’ﬁﬂlﬁﬂfﬂa};ﬁqﬁ A=
health: ; = : Bt 2 )
Conclusions | All neaﬁh?'P“"pm St e ST HEE £ AT
mom.‘ngwﬂ )
JI, Evening walks 8¢ i
narmiul. (qua},?;#ﬁtmél
| FFET AT B

(B) 1 311 i srgereon e &
g:jﬁm*mw%

7 e 1 s e
B T2

22. U A 4 52 F 120 ff 6
;??W”ﬁwﬁsﬁgm
mé;;mqﬁmmﬁﬁﬁ?;

: _
(A) 3582
(C) 212
(E) ST

(B) 3 &2
(D) 2.5 =2

(A) Frare

(©) firz (B) itz

(E) 3rsranfug (D) Wiy f 7~
< .y_.::’.rJ'c'.

= ity K

76— 2%

20. Pty o o qof 2

The Tie
industs
corpo
(A ©
©) G
() N

whic

Sacco
(A)
(B)
(C)
(D)
(E)

25-

26. The

(A)
(B!

27. S



B=

0. Which among the followingd m_“:
Haryana shares its border®
States 7
(A) Kurukshetra

(C) Ambala
(E) Not attempted

stricts of
h three

va munanagar

(B) Yam  ia

(D) P&

The 217 Amendment Act of indian

1. 2

; Constitution was brought in
(A) 2003 (B) 2000
(©) 2001 (D) 1989

(E) Not attempted

wWhich major river forms Haryana's
gastern boundary ?

(B) Ghaggar
(D) Yamuna

(A) Saraswali
(C) Suilej
(E) Not attempted

13. How are computers used in
Communication ?
(A) For managing budgets and payrolls
(B) Via e-mail, video conferencing and
chatting

(c) Through CAD applications

(D) For advertising and home shopping

(E) Not attempted

14. Which of the following diagram indicates
the best relationship between Germap,
French, Languages ?

(E) Not attempted

10. 3
@ﬂjﬁ . CB7G o5
T I | 7 & By -
S 3 = = a_ﬂﬂl.-w_ % 45- Phalgu 5..»«5»
(A) fej HIE ST T gy ﬂ#gm__.ﬂg 5 SN O \y .“
(C) .»JF. (BY () Inafiag
(E) ..2.\_...3.».1 (D) .ﬂﬂwﬂnﬂ (C) ¥aiig,
iy
11, My o (E) Mot ay
Nﬂu:-:ﬁ HIH =61 9191 Heias S 6. WS den
(E) S (D) 1098 Uz
iy ) 2
12, ., ©) 4
T Yy o wiE . ()
e 4 ..Mﬁu 421 B = i ey
(A) T .
ﬁow g (B) = 7. W
& S (DY =1 u
S i}
He ‘
Au. ..._.. S ]
Hﬂ H Fay wH1 ITAT F B S B 7
B 1 e e s R R
= T i Wi S weEan 3 feo
BF 3, fifeh =it =iw 260 ® 18.
Bl

(©) CAD it 3 wrem &

v & TR = . -
(D) T 3w B Wi % few
(B) Hymfem

14.

Fetfetfian 4§ 3 wm—an sime =, $=
AR T3y % i waE TeE aat R




nu“ - S,

English Langua.

e Corracy ;
mﬂbaaﬂm. mﬂur\ﬂ\.nu% form of 81. Che i
Altasky oo B Mm 33%%%#5%&:@?.%.
i & © a ity - % the given 14
(A) asmﬁg s“”m.m ;
(C) Lo, * " SN(EI SRR
) F

Hm.- Zoﬂ a AU
ttep,
Pted

82. OUOOWD
: t rm of the
given s he oo_.,.do..,n..-ﬁ_ﬂ-ao» fo
©Nlene,
: “Did | not warn you

(B)s His frig, < im if he did not
m
s :m:__ that beforehand.

imﬁ .__.-OQ _T_. “
(C) His frign ™ 294 im did he not
wa Smasﬂ-.ﬂmhnmhwﬂn that Umﬁcwmﬂ:m:n_.
(D) His frieng asked him if he had not
Warned hjm, mm&_._m* that beforehand.
(E) Not attempted

83, Choose the correct meaning of the
_"o.__os..im idiom or expression.
ﬂmnm of cake.
(@ Wi Sty i .
©) A d never Jike to do something
0B, tas o other activity that is

€asy or o
(D) Join 5 _ﬂ_.um_:.__u_m : »
Opular trend or activity

(E) Not attempteg

Choose th
3:055@ smow%_. rect synonym of the

Pause
ﬁmc. wﬁou

(C) Start (B) Staff
(E) Not attmpteq (D) Safe

Choose t
he COrrect answer after Making

~20-




'I..I': ”
.]l
|'{ >
S
é 1
gl
;W;IW”*W
wﬁ: a?’?‘:‘*"?‘-"'
H
D,}ﬁ?fﬁa’j
GEC|
Shme /
|
/
f
1 HUTcHE |

g hat does [
3 wh ROM u’ﬂnr,

(A) Random Oﬂf.‘mhr

(B) Ready Open Me [n
(C) Random Output M.
(D) Read Oniy gy, “Mony
(E) Not anc-\mmed 4

rJf‘,

-‘r"‘lury

o Which dance form of Ha

after an ornamen; Worn Na
Of
'.
2 fr)rchgdj

s Na Magd

by young married N()in,:ﬂ 4

(A) Gugga dance (B o

(C) Ghoomar (D) JT_‘(”
Wmar

(E) Not attempted

35, When was National B
and Rural Developm-:
established ?

(A) 1987
(C) 2002
(E) Not attempted

_"J—

The highest peak of Haryz/... K
Peak, is located in which du; 'rﬂ:m

36.
(A) Panchkula
(C) Karnal (D) Ambala
(E) Not attempted

SNows

37. The following table

(in millions) of a city over 5 years. What
is the increase in population from 2016 to

le Ar
rict
J“‘\F ﬁ\:i_‘ ”lllTl—-

(B) f@munanagar

population

33, :'WEHT.QR
(A) Teu SifqEra
(B) = st r‘taﬁﬁ '
(C) 17 3 !
(Dy fiz sr=h ﬁﬁlﬂ
(E) 3manfaq

e

4. = - EaE -naﬂaﬂ. a@ﬁ
ferenfea whammat ard et
& W fha T 2 7
(A) 7

(C) = §

(E) stumfyq

kN . @ﬁ@éﬁ'

T3 T iR e FeresrE 4P

T T a1 <y ard ot 2

(A) 1937 (B) 1982

(C) 2002 (D) ﬁﬁﬁﬂ

(E) Hunfug

1

(B) &
(D) =L

35,

T S i, e e
ﬁ%‘ﬁl et o ]"J"-_I“.I 3 o
(A T
(C) HTm

(E)

36. &=y
(B) THAFT
(D) FETEN
AT

37. = A 596 § s

o o= £
(HIeE 1) 2amedt 2 )

FaeE 4 faad afz 7

ﬁ_-_ﬁ._ — : —
‘r]f4 ‘ 201 712 ""'I'. 20191 2

2020 ?
Year }2016]9@1 [2018]2019[ 2020]
[Population] 1.5 | 1.6 | 21 | 24 | 27 |
(A) 1.8 millions (B) 1.5 millions

(D) 1.2 millions

(C) 1 million

PN N ey

(A) 1.8 H%"ffF-f-'-'-

N . N—
(C) 1 Mg

ST

(F\
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prleKie (3)
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%01 (a)
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18.

ich canal system of Mg, - T ey,
g i ’_ 19, #temom i FH-T T yomett AT 6 A
o i ; Nanaal anq . 7 ; L -
originates near Nangal and iigates sirsa i & P 2 o feen S R 00
and Hisar 7 R Tt 2 :
il
(A) Jawaharlal Canal (A) FATREE 7 L=
‘ .....L
(B) Bhakra Canal (B) WSt & Z A%y
. i P \...4" ! . % .\
(C) Eastern vamuna Cana (C)* e AT e 3 i
o PR D) TEIH A& 4 i e

m phalgu tourist place |,

15

ity

gistrict of Haryana 2 o

lagy s
(A) Jhailar ® tin Which B
(©) Kaithal 5_ iy 18, e ¥ fm A FOO
gt =0
(E) Not attempted :__u._: b e
m_._asf% (A) ZT=AL B8 @
(CY F=e (D) HE

If S denotes x, P Qm«.__r.._
B,

16.
and Q denotes «, thay, - & (E) wwafag
._.w_.mn—.__nu._m._—UA_OCWMI.._.: :33:75 + 16. #fz S, = Hiaoa 2. P Co

. Afe s, x = = &, P
(A) mm (B o R, + @ & B 7 @, + P
(C) - ®) 5 14641Q121P100S2R100 = 7
(E) No empted (AY 21 (B) 61
L iy (C) 48 (Dy 31
17. The value of .e#__rxsm,u is &
6

A) 2 (B 4y 32
X 1/6 \8) '8 17. YW® wmAmE -

2 ‘ g
(©) D) 5 (A) 2 B 2'°
(E) Not attempted ()=t (D) 2

S : (E) FTemied
The first jute mill was sg;

, ’ "D near Kk, :
at Rishra in &ar Kolkata | 18, IS 3 U fow i geel 92 feret

ﬁbv 1857 __.m.r ._..”..._m |.£ =IA ..1. ._.__u_uu.. .\_.?. \
(C) 1855 (D) oy (A) 1857 (B) 1856
. (C) 1855 (D) 1854

(E) Not attempted
(E) ITomiHe

o 4

(E) A

(E) Not attempted



I ﬁ The Headquarter of

25 mdl-'-'str'ai and Infmst r.:a g State
o = JP‘&
aﬂa orporatloﬂ (HSIID( Q-fr-_“.\ avmﬁpf‘nen[ (ﬁﬂﬂ
A) Chandigarh (® Ff;,;rit? in h—}—lq ESTeTec i
dah.
{CJ Gurugram “;}'J -'Elbrld Lp'e;qm = ‘____,_; (B} i
(E) Net attempteq NChky, (A) =iz )
(Cy BT 3
which type of langy,. age (E) “gommfery g{@
25. nd Generation i, "as umq i @
S5eco "1 Lte re 25, eaal ﬁ':Fl ¥ m 1;‘ ‘%ﬂ
[l e -
(B) High level rnr_rgr,-_.-,”_“,n Ning

ST fepary w1 {
) s iz SO
(BJ I E—r.f‘rq A]:n‘f‘q'r‘[ “[qii

(€) Machine languag,
(D) Assembly Ianguag,;,
(E) Not attempted

ing lE'”Q‘Iag@s

() m ‘H T
D) ey T
(€) it ‘
6. The Article 23 and 24 Incia, -
26. Constitution are N:-‘r(’:][prj 26 e s s - e

Tr_ﬁ'}'__l '-'*. > i

(A)IRIght to Freedom o Religion (A) st

(B) Right to Freedom (A) wiite

(C) Right to Equality

TS T = AR
®) i i
(C) T 35 -
(D) T 35 fir S AR
{E'} 3?,1—':’,?]‘.}"'

(D) Right against Expioitm;
(E) Not attempted

27. Select the correct alternatjye thatindicates | 27.
! the arrangement of following units T

logical and meaningful order

s 5 i i
ST 30 8 Freafirfn ot < e

1 3T e 7 |
1. Scrutiny 1. 14?4'&.-*.
2. Application 2. :::ﬁ:ﬂq
3. Interview : B
4. Job offer L; Tﬁ[:_?::
5, Joining (A¥2.13.4.5
e 5 % S (B) 3,1.5,4,2
((BJ) - :Fl \j_ 3.2, 4,5
(C) 1,3,2,4,5 (D) 2, 4, 5,3
(DJ g 1S, 3 . (E) AT
(E) Not attempted

-]



the “Shamsul Ulema' titie by e _

e (B) St gzymy
(4) Khwaja Ahmad AbbaS (©) F
Jaimini Sarshar
(E:B)J ||'lta‘1r!:maur3*"‘5"'r f)‘am:mii ’iﬁq &
(D) At Hussain Hal 4 |
od ' '
(8) Not attemo ooy dgis | 30 %h—ww@vwmoamjww
ik o syt USEs 399717 FH 2 I3
0and17? (A) 15 GG
; )
Binary (8) Decima : T
(S"m daw (C) g (D) RS frres
(E) Not attempted 1 =

91 Which ofthe ollowing is the smallest

BT A0 e

f4) -3 (B) 0 [ -0

(© -2 @) = © -2 (f; 0’

(6) Notatempye €) 3T3fem f

32, ' TH
g%ﬁ""g”g > PURTATE i i farg T
| A mmwwwﬂ?

i (B) fi
(©) firers

=3:6 2,0
afg A:B=g, 23N B:C *f;{
A:B:C#m g2 8
35 (A) 10:9:6 ' q1°
BK9:6: 10 £
(C) 6:9; f‘U -
(D) 39w i 3 wid AET
(E) 3rfag Rz
R il l?‘a; -
ﬁwﬁf@awﬁ*mm A
L 1904 4
was 4 187U AT o, oy fafen = ER:ﬁ ?
m:o-am’;g fhiﬁf% i TR ST~3pay’ <1 Y Q) T A
 Urdupoet from '

What doe
(A) Rand
(B) Read
(C) Rand
(D) Read
(E) Not a

34. Which day

35.

36.

37.

after an oy
by young
(A) Gugg:
(C) Ghooy
(E) Not ag

When was
and Rurg) |
estabh.":,h@t'_

(A) 1987
(C) 2002
(E) Not att

The highes;
Peak js loc
(A) P-ar“.r_':hk
(C) Karnga|

(E) Not atte

The followi

\N milliong)

IS the INCreg,
2020 7

T —

Year _17;
Population|”




g2

will be
7. Most of the Indian Subcontinent
67

under
(A) Am &2
(©) Af (D) BSh

(E) Notatternpteg

68. Where is the Indo-Israel Horticulture
Project located j, Haryana 7
(A) Sirsa

(C) Gharaunda
(E) Not altempted

(B) Panipat
(D) Uncha Majra

89.  Who was the first ruler to establish Hisar

as a major city jn Haryana 7
(A) Akbar

(B) Sher Shah suri
(C) Babyr
(D) Firoz Shah Tughlaq
(E) Not attempted

70.  Which of the fo,
x=327 »

(A) Undefiney
(C) x=3

(E) Not aftempteqd

llowing is true for

(B) x=p
(D) x=—-3

71. Two friends A and B invest in a business

in the ratio 3 : 5 At the eng of the year,

they eameq a profit of R 40,000. What is
A's share of the profit »

(A) Rs, 40,000 (B) Rs. 15,000

() Rs. 30,000 (D) Rs. 50,000

(E) Not attemprey

-18.

's system
grouped according to Koeppen s

CE7G ~28
! FTEa’
Rl S 3 agER MR IO
> S vy 7 gt T
(A) Am (B) Df
(C) Af (D) BSh
(E) 3Ty X
~ p|ﬂ| ” W
68. &= § Tyt A
FEl fem 2
(A) ey (B) %
(Cr wtfey (D)
(E) #HI=fag

‘. |
&+ ®49
ﬁﬁmvnﬁfﬁxm’. =l ©F 8

69. e
(A) 37T s,
(B) Iz 5
(C) = 2
(DY i wm e 3f2%,
(E) snfera e Lm
70. X=927% forg firfian &

oer E ?

(A) (B) x=0

(C) x=3 (D) x=-3

(E) 3Tafiys

ﬁﬁ?AEﬁTBu;Baraﬂmﬁ3:5gﬁ
T B o 35 i 3 s
¥ 40,000 3y o

PHET | &Y o
Aémfﬂ%amfﬁm% ?
(A) %. 40,00, (B) %. 15,000
(©) = 30,000 (D) %. 50,000
(E) 37y
_ £
F o
} 0 ¥ “ 4"




which figure given in y
e
alternatives will |

o T -25 i
¥ |
,_—,omp;_ete the paltem j,
jestion 7 Vhe
? o - o I the figure given in
296
a80
@t T

(C)
(D)

(E) Not attempted
(E) FToTEA

|
42. A shopkeeper marks an itern
' and gives successive di em at Rs. 2,000 42, U THEACH e g I R e
i 5 discounts of 15% _—t 2 o . = zda
'| o B A 15% 3 107 £ Foh e @
= o = . ~ = ~ .1
2 | 9 = Fogra HEa E LB

& + S
8ﬂd 10%. What 1S the final 53@“1pq pﬂCe of |

| the item ?
(A) Rs. 1,520
(C) Rs. 1,530
(E) Not attempted

(A) ®. 1,520 (B) % 1510

(B) Rs. 1,510
\ (C) % 1,530 (D) 2. 1,500

(D) Rs. 1,500
() AT

The Jargest concentration of green house A3. C\DRES R A ES fral e TS
Hiedl &

7 10m . 43.
i aret gases in the atmosphere is
3 e (A) Nitrous 0xide H\ (A T
(B) Carbon dioxide | (By FEA TEAEIES
3 (C) Methane (C) w2
f/ (D) Chlorotluorooarborm (D) af?rhi'vﬁ'ihwh
(E) ST

(E) Not atiempled
A1-
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A o (A
__mwmww. ,..u___w‘ u.m.w\ CE7G —25

'S 49. This v_._u__m.uzm_ﬁ_m

A e o w2 faAt A G A HH 2 ayl last surviving r,

a8 A | ' range

1._!.. conpiete a fob in Gu-ﬁmdﬂ“.‘” 1&. EEC ﬂu& =1 18 feat MM&«%M&H&M& (A) u)ccwm_..

" complets the same job in 16 days: 5&.. awmﬁﬂmﬁ%ﬂ_ﬂ ; S m._._m_

work together. how many days W' ' | 7 3% fre fag et 7 m.:mﬂ Wilg
ake 1o complete the job ? "_ @A) 721 By 7.5 fe (C) Bhindaya,
(A) 720ays.  (B) 75997 (©) 67 (D) 8faT ”mw ”m_w_m.m:mz
(C) 6days (D) gadays (E) HIfE o m:mSU_
(E) Notattempted 45, 9RAA Hiaurm & fea geie 3 e 50.

Which of the foy

e
(A) 8737 H:HMQ i Parallelogra, ,
(B) 44 3 Tsfym o (A) Diagongys y,
(CY 42 T Tyt LTy 2 (B) Oppogis.. .

O ST A G S

() Tt , “lagonays,

(C) Qucom_._m sid]

1073+ am o ¢ _ (D) Opposita
_ PPOsite g,

7 (B) 5
H«Q.m (D) 6 \ (&) Not altemptg,
E) 3931faa .
i f 51. F
] = | "I he Gorrct
! T e R, ﬁ

(A) T = (B) i _ \, \
(C) = Oy o
(E) 391fer _
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oy T FEn . 5022
(& F9 T ‘,0?—:_ 026

(D) TrEETR = 1-""1?:\‘;1‘1'

(E) SR

2 w5 EogEE YR

57- 34
Ui it
\ (A) @y 0%
| (C) 0.8 (=} 018
:E‘ -:IJI\II»J:'I_:['.:F‘
LT P
lements about 58

cess Memory
he power \

MRitar
as .lt‘:[_]t retains % :
; £ ST =

on as t
as the power \
rretal i

the
& contents of 11
2 S dal :_7‘...1"5'52 e T

y (RAM) are
I e C

wmed OUt.
: Rar \ o EE

ont2 i Pendy x
mem°” (RAM) S USiilly v, A

mory ana it 1 eferredtoas |
slaster than the \

mp-ﬂ_lﬁl \/ OF ot -
L Siorage devices |

\Nhich of the statemenis given ¢
rect ? jiven above |

ig/are ¢0'
A Bmh SlﬁTl:"l\"i"-'l 1S 1 and 2 are INCOITE { I'l

B) Both statements  and 2 are ¢
(C) Only gtatement 1is ¢
(D) Only statement 215 corred | .
(E) Not attempte )

11 (=1} l




74.

75.

slas" and burn agu,
Zaled 88 Jnum culy i, €10’
- ;0 Omim |
A North-western S G Pract .csf 72, @y tE - @._a
e, iced in the it ¥ iy N mﬂaﬂﬁ ol /
TR, Bt

(8) North-eastein mf N of I
e, ia S
(C) Coastal Keralg %4 of i (A) VIR B e 2 7
(D) None of the ah. € (BY WTE 3 ~sndy Tt
Ovg . R
(E) Not attempted (©) ;mﬂ - e
(D) F9UF 8§ 3 os
<ph___ln- - .
(E) R 3 @

73, FreafertEn w5 Rt 3 ROE #0
S RCURLE T Py
Fal == S Ha & {
GCONSTRUGTION .
(AY CAUTION

In the following que,
: Bt
H_%Hmﬁ .M Faenaltamas,
Sing the lettq, S which can't be
CONSTRUCTION e given word.
(A) CAUTION

n
+ Select the word

(B) NOTION

(C) SUCTION (8) NOTION

(D) COINS (C) SUCTION
(D) COINS

(E) Not attempted

74. FatlEn s e 0 T8 e

In the following letter sgrigs. some of the
N 39 A Tawen % v 030

I s
etters are missing which are given in that

order as one of the alternatives below it B | R

Choose the correct alternative. U_mm. U wmd" ; ._m. :

bca b 2 ¢_a_caa

i m Um aabc _a_caa (A) bebb ), o
C (B) cbab (O aczb e

(C) acab (D) ccab ) 5 ot

(E) Not attempted
. a . .1.\.~|...._.. .1.?&;
aves, which consist 75. g el THi, ECk 4% e
SRR

ted in which uﬁmxui .n Tl A T

The famous Ajanta C

of twenty-nine caves, are loca

Indian State ? (A) TSR

(A) Rajasthan (B) T
(i 152

(B) Gujarat
(C) Maharashtra

(D) Madhya Pradesh

(E) Not attempted
A9-

(D) 2| el
(E) SRR

(®)
wl e
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(E) 3raifas : (C) By ’
: (D)i L:J‘J‘Une"
56. i L] TR
TWJ&H?&TWWW (E) sty
/ *
(A)-m 100. y%‘ 31“#‘

-, sem ey v

(8) &1 - "ﬂtﬂ X
(C) (A) T2 ® It § |
(0) fezqm Br =
(C) T
(E) 3mfym D
(D) 3

(E) sy
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the
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87-

88.

89.

sore TES T o3
(A) HTET e =

e — o o

00, A 3 T ) e aF

(©) 511
(A) e we

(E) wp_‘mﬂﬁﬂhl

By T T

|C) T 95

‘ehH e =1 =

Nm...l.nn ww Lia | =
aa & | Bl
(A Tt
(BRI s e
g1, SEEAEN e
C) It - 2 . Ah\nmu_
F R ﬂmuw_._ % Fa far
C FETE |

(D) 358 § FE
AERR

(E) 3T9=mh
SR (A 31
@) %

(Cy T

a5 1 =R §
. =i 7

e — . (D) " (|

e I HT FAR T

VST (E) e

¢ o |
5§ = e ks

e =7 & frf

i

M Sz 37H A | A
Hb_ HE-F1TE
__m__ n.\“h_‘nm..ﬂ @N. ,.ﬁﬂﬂ i =T
at
_ () & o 3%

(E) STOTTET

' 1 Tae™ TR

TEH

|
, (B) FHE

A

A) 1 & AT

(B) ® aqE - B , (©) T
| (DY A&

c) @y o8 & |
__ (E) SoTTE

A% $h @




jnting 10 2 pholCg, -

B on of the only 5 B | cﬁ"’ "

the & Sop Aty says “Heis ]
A 82, U A F - . ﬁﬁ'&ﬂ@(

w is the man in g
0 a7 e Y Orandfather." R
1o Lat togig e T TS
(a) Data is inadeq, Riiresgted 0 T ety e o, 8 )
p) Cousin atg 7 o8 =y e 1y &
f(C," Brother (A) STTFI Srafen 2 \‘
(D) Uncle ) -
(C) T3
E) Not attempt
(E) pled (D) =
(E) FAsEnfe;
43 Harsha transferreq hi Gl P
! lig o
Thanesar to Capital from et M
63. 79 4 3T Tmash we ~ :
(A) Mathura : 0 o
(B) I N
(C) Pataliputra IE-jJ Delhi % -.? @) fa=h
(E) Not attempted ! Kannauj (CHENSITIN (D) FATA
(E) Frfam
64. wWho was the [(_‘)Lm“er 2 A S T
dynasty ? Of the Satavahana g4, FAATEA TSEI T e B
(A) Hala (A) Tew
(B) Vashishtaputra py, . .. (8) ﬁﬂ""lt ETHE
(C) Simuka Smay (©) W%
(D) Gautamiputra Satakarni (D) T ST
(E) Not attempted (E) Fmnfed
o =tr7 = Tl S _"Yr;ﬂ:gﬂ:é
:. \:C.U[I-—JILJI‘C found at Sugh in Ambala 65. ,_P‘j.'l‘jﬂ o 'H—'HT“_ oo A g ﬂﬂ,
istrict of Haryana depicts which of the fd ffrfias o & 0 L
following ? e ¢
! (A) wlEmcd Hid &0 "B
(A) Women performing folk dance : N W
. f (B) U 45 H T
(B) Kings in a battle 253
(C) Farmers ploughing fields (C) Gt AW FR= -
% ; - o A=
2 (D) SEOTE] T AR e 3 &«

(D) Singers and musicians travelling on
bullock cart
(E) Not attempted

(E) R

FAE R ¢

66. sin 90" % cos U

What is the value of sin 90° x cos 0° ? \
1 (AY 1 B) /2
(A) 1 (B)y /2 ¢ |
= T \ (C) O ©) 2/,
(C) O (D) 2 A |'| A 2
(E) FFANHA
(E) Not attempted . i
A7-
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e Jrvivin =1
5 jast 3* g rem
ang®
i A

J L (B) N

pis uchw...;aa are;
1

) aAbubshahar W,
ahar Wildlife g
(©) ghindawas Wi,

(D) Asola-Bhatti W

+.mi Not attempted

2733 of the followi,,

50+
nm«m:m_om_.h.,_j ‘.V

(A) Diagonals biseg

=) Opposite angle;

diagonals.

(C) Opposite sides a
(D) Opposite angle

(E) Not attempted

51.

Find the correct mirrgy

~ Bisegte :
Cled oy the J__ B) T A W 1 1.:.3
\ E B |

o / B

. (C) @ i, =T S e
- .ll___.| | .

~ 8qual L A % 0\

(D) HEEg =0 S AGIRS

—”m_

s = .HW@& M_W
a9, = fEd aa T o ¢
At 31 ™ .,ﬂﬂ.&gﬁn

(A AR e 3
== i
(B) TEL T u.qvnﬁd._.

(C) 9= 3= ;11 M

(D) FETE S TR

(E) ™

A
3 T
A
.q,._immm_%n

21

=1
=

ra 5p. T =

el AR R 7 P
: e P

.‘..ﬂm._r:..ﬂ.u, el .p\ﬂ\.‘._

. #

(A T

(E) ORI
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(C)

h—

e ———

(€) Not attempe,

A shopkeepar mag
and gives sycees

and 10% What is
the item 2

(A) Rs 1,520
(€) Rs. 1,530

(E) Not attempte

The largest gone,
gases in the atmc
(A) Nitrous oxide
(B) Carbon dioxi
(€) |










